FAP A% |12F R TEYHYMIMLE £ 15 i

Ritd %

AL & R 2 A2 j5 1 3548 P G
s | B/ P Sk A
Frae SRR 802 ~ 804 , . & F e dic 4
* A (g §0iE) *
WS F s
.Fi«%\ HECT
(D2 g3 P ) B3 7-3/9-1 I8 s i T-1/8-1 Migirdan 2 7-4/8-3
(353 4348 8-2/9-4 M% ¢ 24 & 7+ 7-2/8-4 (%%~ MR 9-2/9-3
i : (2)?\*’%%1[];37}1%& A PR 4 D%@‘? LA 53
A 1 (P LEB FHAn
[ @ #%fe .
Fric B M R L2 B3 B 44 € 15 a A6 #4417 £ 18 4819 5+ & (7 41:E)
IEEC R
AL

B-J-Al SERFNFY RPBLEZ ANl oS e fER  RBF P EOE

ﬁgo
L ROl B A A AU AR FER R KRR ERE 0 A HR
Predd b s o SR
W_J_BZ @?} ?—L&’i > ’E\)JL l’k")lz j&?'&$—'§ﬁw—r%}%lbm‘% ‘%7]‘ ’ xirr’]rﬁ’z S ‘»’bf‘g ﬁ,* $; ﬁ B, s igﬂ_
SRR RN

TS EL PAES S SRR XY TR LIRS

3. 45 “TiE v P R ’AP“*imF‘fL RENT P I RRBONE

2.EEEYV AT EAAB - HEIRY L2 i B R RAES

#E P& 4 z‘aiﬁﬁé% ’ ;ﬂ@&’w\%frﬂmﬁ NS & 5 B xﬂﬁﬁﬁ'*f 4 T BT Mk 24

5. ? i ﬁ’ "~?=%T’s:é B A CRE ~ AL g - & Aoy B)E RA > &
BN R, LT R Y

Ao fRARL P & 2

S ER E RN AN R

= p % (Subject/Topics) %

2/16 %38 EmEp
- |2/16-2/17 |3Ae @ A 2328 £ %

2/17(= )4t 2/15(w )} 513k
- 12/19-2/23 |- ~ — # B ot 9 & A Y ¥ 2/21-22
2| 2/26-3/1 |= ~ BRRFE-ARE/ A B gaGRRREe g) 2/28 *cig 1 p
w | 3/4-3/8 | ~ BARFE-ARE/ 2 LA RF R RE)
T [3/11-3/15 = ~ A stimif e A/ 4 {4 AFARGR P59 B 3D

3/18-3/22 | ~ S #rivig chE AR/ 4 {5 1 AE; ERAG & ek 2k 6)




= 18/25-3/29 | ~ A ArariE B MG/ 4 LA B HAR(R EHEP T 9 & o T 3/28-29
1oe
NRUEVEEEEFICOE I £ VES S8 ¢ N 1 2% 5 ke
1| 4/8-4/12 (32 2 # (- )F G ~ Tik/2 B A BEHRACHEREN 7)
9 & mAF ¥ 4 4/16-17
L 14/15-4/19 48 ¥ /2 B A B (BF 2 H P HE)
798 i o 2am g 4/17-18
2
7| 4/22-4/26 Bk 5 20 Eikk ] % i
4/29 % A BB &
- | 4/29-5/3 | ~ %R=F2 32 p
N E Bk HE
=1 5/6-5/10 |T ~ 52 32 /2 2 ade(~ A %3)
Z(5/13-5/1T|2 ~ ®RPB2H2/4 LA HAGIH ~0 F)
_ . L E Rt s /7)«[_3_\‘ B [‘%‘r’g Bl ‘;_,: 5/20—5/25(7)
® |5/20-5/25| 8 &= /2 A MBARGERER RS s 202 ) 1T
7 (5/27-5/31|p B- ~Fe/2 RAER(AY 2B FER)
| 6/3-6/7 |p B - ~583/4 81 3A0K Bk 4 FBEE)
= _ = N R E g 2 ‘ﬁ y = A Y 1 3 6/10(— ):T%i%'{ig‘
6/10-6/14 W g 4L/ R AR (RAR T B 22 Hh R Bl 8 T8 8/11C= Y HLR A 15.5/25
ANB/1T-6/21 = ~rd g 4e/2 2 RESHAL (R o7 Banp 3 ®WiT@dR)
1 [6/24-6/28 [3F = ® ¥ (= )AEFF R fE/ 2 6 2 AR &)
n _ . (RS s A
T/1-T/5 |4 % RET/5
KEFTRF R T - FYE - RRTHR

W reE 60%
1 | AP il - % S
— 1~ % i®50%(Fef = 2370 )
TE 20 o B H 50k
NEE R B 20 T MR Rl S T e
g I~ S8 BN Lk
E S 20 A
2 N é%{j‘iéc
Wy-Q =2 20%
By == : 20%




